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�� � *�+,�- .*)/0 1� ��� 2���2 �� ����!  ��� � � ��������� ��������! ��-����
�� � � 2��'�� ��&������ ���&�� .3���0 1 �� ��� � � *� - ��� �-��� .� �!���+
���( ��� ��4� �������0 �� � � ,�����) �&�� � ���2�� ��� ���&� �� ����������
�� ��,-�����! '���� � � 2��'�� ��������� .3�0 �� � � ������ &����'�� ����2
� � �!������) �� �� 1��� ���1� '! ��1 � � �4������� �� � � 3��� ���� ��+
-��� ��� ���! �� � � -�����'����� �����2� '�� ���� �� ��� �,��� ����) �� ��
���&������ �� � ��������5�� � � ������ '! � � ��,-���� ������� �-�����, ��
� � -�����'�����) ��� ����!����� -�����'����� � � ������� �,-������� ����!
�4-���������! ����) �� � �� ���� 3� ���� �- �� � � -�����'����� ε>∼εcr �4�����
��,� �������� &����) 
� ��1���( � � � ��� ��,���� ������5�� 1�� �� ������&��!
�����1 � ����� ��!��� �� ��������� ����������) �� � ������( � � 3� �� ��� ��
��,-�����! '������ '! 3��� �� � � ���� �� � � ��������� �� 1��� �� � � ,������
�� ��� ��,��� ����! �4-���������! �� -���,���� 1/ε �� ε → 0 .� � ��+������
������ ���������( ��� � 2������ ��&��1 ���( �)2)( 6/( *( #70)

�! ����������( � � ��,�������� �� � �,��� �!���,  �� � � -�1��+��1
������� �-�����, 1�� � ������� �4-����� β + 1 .���( �)2)( 687 ��� ����������
� �����0) �� � �� ���� � � 3� �� ��1�!� '������ ��� ��,� �����������! �,���
-�����'����� �����2� ε < εcr(β) -��&���� � � �,��� ���� -���,���� β > βcr

�4����� � � �������� &����) 	 �� �� ��,���� �� � � ����!����� ��,�������� �4��-�
� �� � � �������� -�����'����� ��-���� ��1 �� � � ��,�������� �,��� ����
.εcr(β) → 0 �� β → βcr0)

	� � � '��� �� ��� ���1���2�( � � ,��� �����2 ��2����� ������ �����9
βcr < 4 ��� � *�+,�- ���� �� � �� -�-�� .��� 6:70) ��1�&��( � ��,-�� - !�����
������������� 687 ����� �� �&�� �,����� &���� βcr = 3 1 �� �� ����� �� '� ���+
���,�� ��,� �1( � ����������! �� ��,�������!) �� ��! �&���( � � �,��� ����
�� ��� ,����  ��� β = 2 �� �&�� ����)

����� �������!( � � '� �&��� �� �!��,���� �!���,� �� � � �--����� ����
β < βcr �� � -��� �,��� ���� ��,����� ��� �� &�2��) �&�� � ��2 � � ,���
��,������ ���� ���,�� �� ������, � � ��,-���� '� �&��� �� ��,� ���&�����
3� .���( �)2; 6"70 � ��1 ��������4�,-��� 1��� �'���&�� ��� .���( �)2)( 6<( =70)
�� � � ������ ��,� ���>�������� ��,����� 1�� �� � ������� ���������� -��� ��

#



� � - ��� �-��� ��� � �����! ���2 ��,-������� ��,�) �� ����� �4-�������� ��
� ��� �����2� �&����  �� '��� 2�&�� �� !��)

?���1 ���( �'��� *$ !���� �2� .@0 � ��,'�� �� ,�� �,������ ������� ��+
&����� &������ -����'������� ��� � � �4������� �� 3��� �� �,��� �!���,� 1�� 
β < βcr .���( �)2)( 6/$( =( %70) 	� ��( � � ,��� ��,-�� ����&� ����!��� ��
� �� -��'��, 1�� 2�&�� '! ������� 6%7 1 � ��2������! -��&�� � �����2� ���+
&�&�� �� ���������! ,��! 3��� �,�� � �����2 ����� � ���) ���-�����2�!( ���
� ��� ����������2 ������� ��,��� ����������! �����1�( �� ����� �� - !�������)
�--������!( � �� �� '������ � � �'�&�,�������� ,�� �,������ -�-��� 1���
���������� .-������� @0 �� 1 �� ����� '� ���� ��2������! � �� �� �� � � ��+
&������ ���&�� ���! 1�� ��� ��! ����,-� �� ����!�� � � &��! ����������2 ���
�,-������ �����-��� -�������� ��� �� ���������) 	 �� �� ����� �� ���� �� � �
- !����� ����!��� ��� ��,������ .�� ��'������!0 �4-���,���� ���!) �� � ������(
���! ����� ������ ���������� �������&��! �� 3��� �� � ��� '! 
&�!������& 6//7
.1 �� ��� ����� ��-�'��� �� .@0( ��� 6/*( /#7 ��� � � ���� ��4� �� 
&�!������&A�
� ����,0 � � �������&� - !����� ������� �� � �� ����������2 - ���,����  �&�
'�2�� 6/*( /#( /8( /:( /"7)

����������2�!( '�� ��� ��� 6%( //7 ,��� ��� �� �4����! � � ��,� ,����
��� 1 �� � �����2� ������+�� ���>�����! 1�� �'���&�� ����� ,�� ������� 6<7)
�--������!( � �� �� '������ ��� � ,���� .� -��������� ���� �� ��� ,���� 1�� 
-���,���� d = 1/2( ��� ��4� �������0 �� � � ��,-���� ��� -��������2 � ���
������� 3��� .��� ���������� ��� 6/:70) ��� �-� � � ,��� ���-���� 1�� �� � ��
� � 3��� ������� � � ��-��������� �� ��������� ���������� 1 �� 1��� ��1�!�
���������� '����� �� ���� ������!�� ����� '! ��,��� ��! -�����'�����) 	 �
-�����-�� ���������� �� � �� ��1 � � ��&������ ���&��( ��-��������� ��������2(
�� �4��� ��� � � �-����� &����� �� � � �!���, -���,����� ���! .��! K = Km0)

�&�� � ��2 � ��� ��� ���������! ,��! ��� �-����� &����� �� � � -���,�+
���( ��� � � ���������! ,��! 3��� ��� ��� �� � � &���� �� 1 �� >��� � ���2��
3�� ���� ��,-�����! '���� � � 3� � � -��'�'����! �� � � ������ � �� �� � �
,������ �� ��� K+&����� �� �--������! 5���) ��( � -�����-�� B������� �� '�
���1���� ��9 1 �� 1���� '� � � '� �&��� �� � �� �!���, ��� �� 
�����
��
&���� �� KC �� 6/"7 1� ���>������� � �� �&�� � ��2 � � ��� �� Km �� ���
2�������! �&��!1 ��� ����� 6%7 � � ������! �� � �� ��� �� �--������! ��� ��
 �2 ( �� � �� ��� ,�! �4-��� ��,� � ��2� .-����,�'�! ��--�������0 �� � �
��������� ��� �&��! K &���� �� ��,-���� �� � � D�����D .��,�����0 �!��,����
�!���,) �� �� �� 1����( 1� 2������ � �� � � ��������� �� � � - ��� �-��� ���
�� � � ,����� � ����� ,�! '� � ��2�� '! � � ���,����� �� 3�� �� � ����� K
&���� �&�� �� �� ��,��� ��! K � ��� �� �������! �� 3��) 	 �� �� 1 ! 1� ����
��1 ��� � ���2 '���+K ��&������ ���&� � � 	����
� ��� .E��0 1�� ���-���
�� 
�� K 6/"7)

8



�����,����! ��,������ �4-���,���� -�������� �� 6/"7 ��� ������, ��� ���+
>������) 	 �� 1�� ���� '! � � -��,-� ��,-������� �� � � �&���2� ���������
���� D(K) �� � �������� �� -���,���� K �� � � ��,��� 1�� 3���( ���� ��
&������ ����) 	 � �4-���,���� ��&����� � &��! �����2 ��--������� �� � � ���+
������( �- �� ,��! ������ �� ,�2������( ���������� ���! '! � � ��,-�������
��,�) ��� 1 �� ������ ��� �� '� �&�� ,��� ����������2 1�� � &��! ��,-��+
����� .�--������! �������0 ��������� �� � � ��-������� D(K)) 	 �� ���,� ��
'� � ������ �� � &��! ��,-������� ��������� �� � � ,���� - ��� �-��� ������)
�����,����!( � � ������ ����� ���� � ��+������ �������� ��������� .���( �)2)( 6870
'�� � ��� �� �-������ ��� ��� �� � ������ �� E���)

�� � � -������ -�-�� 1� '�2�� ����!��2 � �� ���,��2�! ��1 �!-� �� ��� �
���������) �-���������!( 1� ����� 1�� ��&����2����� �� � � ����������� -��-������
�� � � �������� �� ��� �� � � � ������������ -�������� �� � � � ����� ,�����)

� ����

 ��� ���� ���	�

��� ������A� ���&������� 1� ��-��� '���1 � � ������-���� �� � � ,���� 1 �� 
�� � � ��,� �� �� 6/:( /"7) 	 � ,���� �� �-������� '! � ,�- �� ���������
&����'��� ������ .,�,����,0 p + - ��� x9

p = p + Kf(x) , x = x + p ,�� 1 . (2.1)

1 ��� K = ε > 0 �� -�����'����� �����2� .��� ����������! 1���0( ��� D�����D
f(x)  �� � ���, �� �����!,,����� .f(−y) = −f(y), y = x − 1/20 -����+
1��� ������ D��1D �� -����� /) 	 � - ��� �-��� �� � � ,���� �� � �!������9
0 < x < 1 , −∞ < p < +∞)

�� �� 6/:( /"7 1� ��� 2���2 �� �������! �������� � ��,��! �� ,�-� 1�� 
���� �� -���,���� d .��� ��2)/ �� 6/:70 ��� � � �����

f(x) =
{

2x/(1 − d) , �� |x| ≤ (1 − d)/2 ,
−2y/d , �� |y| ≤ d/2 ,

(2.2)

1 ��� y = x − 1/2( ��� � � ������ -���,���� d .0 ≤ d ≤ 10 �� � � ��������
'��1��� � � �1� D���� D �� � � ��1 |f(x)| = 1 �� -����� y = y± = ±d/2)
	 � ,��� ������� -��������� ���� �� � � ��,��! ������-���� �� d = 1/2 1 ��
� � �1�+���� ��1 f(x) �� �!,,�����) �� � � ��,�� d = 0 � � �1� ���� ,��2�
�� ���( ��� ��� � � ��&������ ���&�� ��� ������!��) 	 �� 1�� �'���&�� ���
�4-������ �� 6/:7 ��� K > 0) �� � � �--����� ���� K < 0 .1 �� �� �B��&�����
�� K > 0 , d = 10 � � �!��,��� �� � � ,���� �� ��,-�����! ���������( ���
1� 1��� ��� �������� �� �� � �� -�-�� .��� � '���� ���������� ��� 6/:70) ��

:



��� *�+,�- .*)/0 � � 3�� ��--���� �������� �� - ��� x ������ �!������
1 �� '��� ��! ,����� �� p �&�� 3���) ������ � �� � � ����� ��&������ ���&�
.
��0( ����������2( ��� �4�,-��( � ��,��� �� ��2���� ,����� .���( �)2)( 687
��� ������� : '���10( ������-���� �� ����������� �� - ��� x 1 �� ����1� �� ��
���>�������� �� '!-��� � �� �'������)

	 � 3���( ��-��������� ��������2( �� �4��� �� � � 1 ��� �����&�� 0 < d < 1
'�� ��� �-����� K &����� ���! 6%( /:( /"7) �����������!( � � ��&������ ���&��
��� ��,-�����! �'���� 6%7 ��� �����������! ���2� -���,����

K > KB(d) =
2d2

1 + d
, 0 < d < 1 . (2.3)

�� K � KB .��� '���10 � � - !����� B������! �� � � ,��� �������� ���
��( � � ��������� ���� D( ��� '� �--��4�,����! ���������� ���, � � �������
�4-������ �� ����� .*)*0 .��� �������� ��� 6/"70

f(x) =
∑
n≥1

fn

nβ
sin(2πnx) , (2.4)

1 ���

fn = − 2
π2

cos(nπ) sin(nπd)
d(1 − d)

, β = 2 . (2.5)

�����������!( �� � � ��,�� d = 0

fn = − 2
π

cos(nπ) , β = 1 (2.6)

� � �,��� ���� -���,���� β '���,�� ���� '! ��� '�� � � '�� &����� ��� ����
� �� �������� βcr = 3)

	 � ����������� �� � � ��������� ���� ��� �� �� B��������� ��� ���� ����2
� � �������� ����!��� �� � � ��������� ���������� ��� � ��� ����������� .�&��+
��-0 .���( �)2)( 6/( *( #( /"70) 	 � ����������� �� ��-������! ��,-�� �� ��� ���
��2���� � � &�������� �� ������������ |fn| ≈ const �� .*)80) 	 �� ��,-����������
�� �4��� ��� d = 0 .*)"0( ��� ��,���� �������'�! �������� 6/"7 ���

K >∼ 3KB =
6d2

1 + d
. (2.7)

	 �� � � ��������� ���� �� �--��4�,����! 2�&�� '! � &��! ��,-�� ��������
��������

D(K) =
(∆p)2t

t
≈ 256

π5
K5/2 ≈ 0.57 K5/2 , (2.8)

"



1 ��� t �� � � ,����� ��,� �� ,�-A� ����������( ��� -���,���� K � 1 ��
����,�� �� '� ����������! �,���) 	 � ������ �4-������� �� .*)=0( 1 �� 1� 1���
��� '���1( �� � � ������ �� �4�����&� ��,������ �4-���,���� �� 6"7 ������,��
���� �� 6/"7 ��� K<∼0.1 .��� 6/"7 ��� ��4� �������0)

������ � �� � � ��-������� D(K) ∝ K5/2 �� ��������� ���, � � �����(
�� '����� �� ��!( � � ��,-���� ��� D(K) ∝ K2) 	 �� �� �4-������ '! � �
�!��,���� ����������� �� ,����� 1 �� �� �����,���� '! � � ���B����! �� � �
- ��� ����������� �� ��������� ����������

Ωn =

√
2πKfn

nβ−1
≈ 2

√
K ≈ Λn(K) � 1 . (2.9)

���� Λn ������ ��� � � 
!�-���& �4-����� � �������5��2 � � ����� �4-��������
�����'����! �� � � ,����� 1 �� �� � � ,��� ��������� ��� �!��,���� � ���)
������ � �� ��� β = 1 '�� Ωn ��� Λn �� ��� ��-��� �� � � �������  ��,����
��,'�� n) 	 � �4��� &���� �� � � 
!�-���& �4-����� �� � � ��,�� d = 0 ��
2�&�� '!

Λ = ln (1 + K +
√

2K + K2) ≈
√

2K � 1 . (2.10)

	 � ������ �4-������� �� � � �--��4�,����� ��� �,��� K .��) �B).*)%00 1 �� ��
�����! 1��� 1�� �� � � ��2��� �� �--�������� �� �B).*)=0 .K<∼0.10 1�� �������!
∼ 1%) �� � � ��,� �� ��� ,���� �� �������� .� � ��,'�� �� ,�-A� ����������0
'�� ����������� � �������������( .*)%0 ��� .*)/$0( ,��� '� �,���(  ���� � �
�'�&� ����������� �� -���,���� K ���)

�� � � �--����� ��,�� K � 1 � � ����������� '��1��� ��������&� x &�����
��� ��2��2�'��( ��� ��� ����&�� �� � � D�����D �������� ��� � � ��������� ����9

D(K) = K2

∫ 1

0

f2(x) dx =
K2

3
(2.11)

����-������ �� � � -���,���� d) �� �����,������ ��2��� .K ∼ 10 � � �����+
������ ������ � � ����!��2 ����������� .��� 6"70 1 �� �� '�!��� � � ���-� ��
� � -������ -�-��)

� �	����	�� �	����� ��� 	����	��� ������


�������� ��� �������

�� 1�� ������! ,�������� �'�&� � ��� ��� �� ��&������ ���&�� ��� d = 0)
?����&��( � � ,����� �� ��2���� � �� �� �� � � ��,-���� ��������� �� � � - ���
�-��� .��) ������� 8 '���10) 	 �������( � �� -��������� ���� �� ��� �� � � ,���

<



�������� �� �� '! ������) ��&��� �����( �� �� � 2��� ������������ �� ��� �������
-��'��, ���������� �� ������� " '���1) � ��,���� �--���� 1�� ����� �� ���
-��&���� -�-�� 6/"7)

�����( 1� �������� � � ��,� ��-������� �� � � ��������� ���� D(K; t)) 	 �
��,������  ��� ������� �� ����� ��,,� �� �������� �� �,- ���5� � �� � �� ��,�
��-������� �� ��� � ���� - !����� ������'����� �� � � ��������� '�� ��� �� �
��,'������� �� �1� ��������� -��������9 � � -��-�� ��������� &�� ����,�������
�� �����, -�����'����� ������� ��� � ���������! ��2���� ����������� �� � � ���+
�����2 &����'�� .p �� ��� ����0 1 �� �� � ���� �� '���2����� ��� � � ���������)
��� � - ���,���� ��� '� ���2 �! ��-�������� '! � ��,-�� ��������9

D(K; t) ∼ D∞(K) +
B(K)

t
, (3.1)

1 ��� B(K) �� ��,� �������� �� � � -�����'����� .���( �)2)( 6/"7 ��� �B).#):0
'���10) �� �� �� 1����( �� ,��! �����( � � -������ ������� ��������2( � �
�����������2 ���������! -��� ��� '� ��-������ ���, � � ��������2 -��� 1 �� 
,�� ��,-������ � � ����!��� �� � �� ��,-������� -������) ��� � �� ��� '� ��+
����'�( �� ������( &�� � � �������� ,�� �� �� � � ����������� �� -�����'�����)
��1�&��( � �� 1���� ���� �� � ,�� ,��� ��������� � ��������� ��������� ���(
'������( �� ,�� ���� �����,����� �� � � ��������� �!��,��� .���( �)2)( 6"70)

�� �4�,-�� �� � � ��������� �������� �� -�������� �� ��2)/) 	 � ��,-�+
������ 1�� ���� �� �����1�) � ��,'�� �� ���>�������� M � 1 1�� �����,
������� ����������  �,�2�������! ������'���� 1�� �� � � ���� ���� �� � � - ���
�!������ .0 ≤ x0 < 1 , 0 ≤ p0 < 10 1��� ��� ��� � �����������! ���2 ��,� 1�� 
��������&� ���-��� �� ������� �����,������ ,�,���� �� ��,� t �� � �1� ��
��2)/) ��,�,'�� � �� t �� ,������� �� � � ��,'�� �� ,�-A� ����������) ��� 
���-�� �������� � � ��������� ���� < D > �&���2�� �&�� ��� M ���>��������(
��� � � ��,���������� &������� �� � ��

VM =
< D2 > − < D >2

2 < D >2
. (3.2)

��� 3������� ������'����� �� ������ p � �� &������� 1���� '� ����!) 	 �� ��
������ � � ���� ��� � �����������! ���2 ,����� ��,� 1 �� � � ,������� �����+
���� ���� ���� �� ��� ��!,-����� &���� D∞ .#)/0) � B���� ��������� ��-�������
VM (t) ��� -��&���� �,����� ��,� �� �� �� ���-���� .��� �� �� &��! ����������20 ��
�&�� � ��� D(t) ��-���� �� � ��,-�����! ��������� - !����� -������ ��� �����
�� -��� �&��)

� ���� ���-���� 1�� � � &��! '�2�����2 �� � � ���������( � � -������ ��
��2)/) 	 �� ����� �� � ���� ��������� ������ � � �����1��2 -��� �� � ���������!
�����������) ?����&��( � � ��������� ���� �� � � -������ D0 = K2/3 �� � �

=



��2��� /9 ��������� ����4����� D∗(τ) = D(τ)/D∞ → 1 �� ,���� .*)*0 1�� 
-���,���� d = 0 .1�� ��� ��&������ ���&��0 �� -�������� �� � �������� ��
��,���������� ��,� τ .#):0 ��� �1� &����� �� K = 0.01 .�������0 ��� 3 × 10−5

.�������0) 	1� �,��� ����� ����� � �1 � � �,-������ �������� .#):0 1�� �1�
������2 -���,����� c = 1 ��� γ = 4) ��� �� ����� ��� &�������� VM (τ) .#)*0(
��� ������ ����� � �1 &�������� VN (τ) .#)=0 .��� ��4�0) �� � � ��1�� -��� � �
������2 .#)"0 �� -�������� ������� '! ������ /$ �� �&��� �&����--��2 1�� �� ��
����) 	 � ���� &���,� �� �,-������ ���� 1�� J = M × N = 104 × 10 = 105

.��� ��4�0)

,�4�,�� ��� .*)//0 �� ��� ���2� K � 1) ���� �� ����������2 �'���&����� ��
� � �������� �� � �� �����2� ���������

t0 ≈ 1
Λ

≈ 1√
2K

, (3.3)

1 �� �� ����� �� � � ��&����� 
!�-���& �4-�����( � � ���� ��,� �� � � �����
�4-�������� �����'����! �� � � �������!��2 � ����� ,�����) 	 � ���� '�� ���
����� ������� -��-���! �� � � ���� �������� �� &������� .#)*09

VM (t) ≈ t

3
, 2 ≤ t <∼ t0 (3.4)

�� � �1� �� ��2)/) 	 �� �� B��������&��! ��������� ���, � � '� �&��� ��

%



� � ��,� ��������� ���� ��� ���2� K � 1 1 �� � � &������� VM ≈ 1 ��
�����) 	 � �!��,���� ,�� ����, �� � �� �����2� ������������ ��������� ��
��� ��,-�����! ����� ��� ��B����� ���� �� �������) �--������!( �� �� ��+
����� ��,� �1 �� � � ,��� ����������� .*)%0 �� � � �!��,���� ����� .#)#0)
�&�� � ��2 � � ������� D���������D �� ������&��! ���� �� 2��� �� � � ��� ��,�
���! �� � �� � � ������&� � ��2� �� � � ������� ������'����� �� ���>��������
|∆p|/|∆p|0 ∼ √

D0/Λ ∼ K3/4 � 1 �� ��2��2�'�� ��� �,��� K � 1 ������
� � ������� ������'����� |∆p|0<∼K3/4 �� &��! �����1) ��1�&��( �� � � ������
���� � � ��-������� D(t) �� &��! �������&� �� � � ���, �� � � ������� ������'�+
���� �� p �� � ��1 ��� -����,����! ��,������ �4-���,���� ��&���) 	 � &�������
�� D(t) �� ��-������! �����2 ��� �,��� t ∼ t0 �� � � ��2��� �� � �� ,!��������
-������ '�� �&�������! ����!� �� t → ∞ 1 �� � � ��������� �--���� �� ���
��,�� &���� D∞) �--������!( � �� �� ������� �� � ��,-������� ���� ��������� ��
� � - ��� �-��� ���F�� �� � � ,����� ������������) 	 �� ����������2 B�������
��������! �����&�� ���� �� ������� '�� �� � � -������ -�-�� 1� �������� � �
��,-����(  �,�2������( ������'����� �� � � ���>�����! ������� ���������� �� � �
- ��� �!������)

�� � �� -��������� ����( � &��! ��,-�� ��� ���-�����2�! �������� �,-������
�������� ��� � � ��������� ��,� ��-�������  �� '��� ����� �������2 ���, �
B��������&� -������ .#)/0) ��  �� � � ���,9

D(t) ≈ D0 + τ D∞
(1 + τγ)1/γ

, τ = cΛ t . (3.5)

���� τ �� � � ��,���������� ��,� 1�� �� �,-������ ������2 -���,���� c ≈ 1
1 �� �� &��! ����� �� ���) 	 � ������ �,-������ -���,���� γ ≈ 4 �� ����
�������� '�� �� ������� � � ���� �� � � ��-������� D(t) �� τ ≈ 1 ���!) 	 ��
����4����� �� � � ��������� ����  �� �1� ��,� ������9 .�0 � � -������ τpl = 1
�� tpl = 1/cΛ ≈ 1/

√
2K � 1( ��� .��0 � � ����4����� τR = D0/D∞ ∼

1/
√

K � 1 �� tR ∼ 1/K 1 �� �� ����� ,�� ���2��) ����������2�!( � � �����
��������� �-������2 �� � &��! �����1 ������� p+������'����� �� � � ����4�����
��,� �����

|∆p|2R = D∞tR = D∞(D0/D∞)/cΛ = D0/cΛ = |∆p|2pl

�� �4����! �B��� �� � � �-������2 �� � � -������) �����( � � ���� ����4�����
�-������2 �� �1��� �� ���2� 1 �� �� ���� �������! ���� ���, � � �,-������
�������� .#):09

|∆p|2R = D(τR) · τR

cΛ
≈ D0 + D0

(1 + τγ
R)1/γ

· τR

cΛ
∼ K3/2 � 1

��� 1 �� �� ����� ,�� ���� � �� � � ���� p+-�����)

/$



�� ��2)/ � � �,-������ �������� .#):0 �� -�������� ��� ��,-���� �� � �
��,������ ���� �� � � ��,���������� &����'��� τ ��� D∗ = D/D∞ 1 ��� D∞
�� � � ��!,-����� .D����D0 ��������� ���� .*)=0) �� � ��� &����'��� � � ���&��
1�� &������ K &����� ��� ��,����( ��� ���&��2� �� � � ��,�� τ → ∞)

���� �� ����������2 ������2 ��� '� ���� �� �����1�) 
�� �� ��������� � �
��������� ���� D∞(D(τ)) = Dth ���, �B).#):0( ��� -��� � � ����� �� � �� ��
� � ���� ���� .*)=09

Dth

D∞
≈ D(τ) · (1 + τγ)1/γ − D0

τD∞
≈ 1 . (3.6)

	 ��( 1�� �� � � �������! �� ������2 .#):0 ��� �� ������������( � �� ����� ,���
'� ��1�!� ����� �� ����!) 	 �� �� ������ � � ���� �4��-� � � -������ .t<∼t00
1 ��� � � ���� D(τ) �� ��,��� ����-������ �� τ .��� ��2)/0)

	 � ��4� �,-������ ����������� -��-���! ��� � � ������������ �� � � �����+
���� ����) 
�� � ������������ �� � ��� �� � � ���-������ �� ����>�������� 1 �� 
�� � ��������5�� '! � � &������� .#)*0) �� ��� � � ���>�������� 1���� '� ������+
������! ����-������ � � ���-������ �� � � ,��� ��������� ���� 1���

(
∆ < D >

< D >

)2

=
2VM

M − 1
. (3.7)

�! ������������( � � ���>�������� ��� ����-������ ������ 1�� ���-��� �� � ���
������� ���������� '�� ��� ����������! �� � � ������-�����2 ��������� ����) 	�
� ��� � �� 1� ��-����� � � ��,-������� �� ��������� N ��,�� 1�� ��1 ���
����-������ ������� ����������( ��� � �� ���������� � � ������ .��10 ��,��+
�������� &������� ��� � � �&���2� ��������� ����9

VN =
(

<< D >2>N

<< D >>2
N

− 1
)
· M − 1

2VM
≈ 1 . (3.8)

�2���( �� �B).#)<0  ���� ���� � � &������� VN � ���� '� ����� �� ���)
	 � ��,� ��-������� �� '�� &��������( VM (t) ��� VN (t)( �� � �1� ��

��2)/) ��,����'�!( � ��� '� �&��� �� B��������&��! ���������) 	 � ����� &���+
���� VM (t) ��-���� �� � � ������'����� �������� �� p �� � � ����,'�� ��
���>�������� 1 ��� � � ������ &������� VN (t) �� �������� '! � � ����������� ��+
-������� .�� ����-�������0 �,��2 ���>�������� 1 ���&�� � ��� ������'�����
��������) 	 � ������� �� ��� ��,������ �4-���,���� -�������� �� ��2)/ ������!
��,�������� � �� � � ������'����� �� p B�����! ��&����� ���, � � 3�������
��� �����2 � � ��������� �� -������( ��� ��,� '��� ���! �� � � ��,�� t → ∞
1 �� � � ��������� ���� D → D∞ �--���� �� � � ��!,-����� &���� 1�� ���

//



��! �����������2 -���) ������ � ��( � � ���>�������� ��,��� ������������! ����+
-������ �����2 � � 1 ��� -������ �� � � ��������� ����4�����) G� 1��� ��,�
'��� �� ���������� �� � �� ����������2 -���� �� � � ���������� �� � �� -�-��
.������� <0)

��1 1� ���� �� � � ,��� �����,���&� ����������� � ������������( � � ������+
'����� �������� f(D) �� � � ��������� ����)

� �	����	�� �	����� ��� 	����	��� ������


��� �	���	���	�� �����	��

�� � � ,��� -��� �� ��� -�-�� .������� "0 1� � ��� '� -��,����! ����������
�� � � ������'����� ���� D → 0 �� &��! ��1 ��������� ����) 	 � � �-� �� � ��
���� �� ���1� �� '� �� �,-������ � ������������ �� � � �������� ��������� �� � �
,����� .���( �)2)( 6870) ����� ����������� �� ��� � ��������� �� � � -�������
�� � � &������ ��&������ ���&��  �&� '��� �'���&�� �� 6/"7) ���� 1� ��������
� ��� �������)

����� � � ���������� �� � � ��� ���� �� ��1�!� ��� �� -��� 1� ,��� ���( ��
�� 6/"7( �� � �-����� &������ �� � � ����2��� ������'�����

F (D) =
∫ D

0

f(D′)dD′ ≈ j

J
(4.1)

� � ��+������ D����+�������2 ���������� �� �4���,� �&����D .���( �)2)( 6/<70) 	�
� �� ��� � � �����1��2 ��,-�� �������2 �� � � D(j) &����� .�&����0 �� � �
��������� ���� �� ����������9 D(j +1) > D(j), j = 1, 2, ..., J ) 	 �� � � ����2���
-��'�'����! �� �--��4�,����! 2�&�� '! � � ����� j/J �� � �1� �� �B).8)/0)

�� ��,-������� 1� �!-�����! ���M ���>�������� '!N ��,�� .��� ������� #0(
�� � �� � � ,�4�,�� ��,'�� �� �&���� ���� �� J = M ×N = 104×10 = 105)
	� �'���� � � ��1��� -����'�� D &����� ��� ,���,�5�( �� � � ��,� ��,�(
� ��� �� '�2 ���-�� 1� ������� ��� � � ��,-���� �&���� '�� -������ ���
,�� ���� �� � ��� J0 � J �� ��� � 1�! �� 2�� ��,� ��� J1 < J0 �����
.� � �,������0 Dj 1 ��� � � ���� 1��� -������ ��� �� � ��2���� ,�� �����) ��
�4�,-�� �� ��� ������'����� �� -�������� �� ��2)* ��� K = 0.001 �� &����'���
D∗ = D/ < D > ��� F (D∗) = j/J 1 ��� < D > �� ��,� �&���2� ���������
���� .��� '���10) 	 � �--�� ������'����� ������-���� �� � ��� �� ���2 ,�����
��,� t = 104 � 1/K 1 �� � � ,��� ��������� ���� �� ������! &��! ����� �� � �
��,�� D∞) ��� � � ��1�� ������'����� t = 10 �� &��! � ��� ��� ������-���� ��
� � -������)

/*



��2��� *9 ������'����� �������� F (D∗) .8)/0 �� � � ������� ��������� ���� D∗

.8):0 �� ,���� .*)*0 1�� ��� ��&������ ���&�� .d = 00) 	 ��� ��� �� �����2 �
���� ��-������� ��!,-������ .8)"0 �� � � ����2����� D+������'����� .8)*0 ��� � �
3������� p+����������) 	1� ��1�� 1�22�! ����� ������-��� �� ���2� ��&�������
���, � � ������9 D∗ = 42 (K = 10−3) ��� 461 (K = 3×10−5) .��� ������0) �
2���- �� /$ D+������'������ �� � ���2� �����&�� .10 ≤ D∗ ≤ 4610 ��� '���2 �
��2�� �� ����2 �,-������ �������� .8)%0) ������9 � ��� ������ RD .��� ��4�0 &�)
��&������ D∗ .8)=0 ��� K = 10−3 .�������0 ��� 3×10−5 .�������0H � � �����2 �
���� �� �,-������ �������� .8)<0)

�� ����� �� � � ���,�� ���� 1 �� � � p ������'����� �� 3������� .��� �������
#0 � � ������'�����

f(D) =
αλ

Γ(λ)
Dλ−1 e−αD (4.2)

�� � � ��+������ ������� Γ+������'����� 1�� � � �1� ,�,����

< D > =
λ

α
, (∆D)2 = < D2 > − < D >2 =

λ

α2
, (4.3)

1 �� ��� � � ,��� ��� &�������( ���-����&��!) ��� 3������� p+������'�����

/#



� � ������� &������� .#)*0 VM = 1 1 ����

(
∆D

< D >

)2

=
1
λ

= 2 (4.4)

��� λ = 1/2 ����-������ �� α) ��( ,����&��( 1� ��������� � � ��,����������
��������� ����

D → D∗ =
D

D∞
(4.5)

1�� �&���2� < D∗ >= 1( 1� �'���� ���, �B).8)#0 α = λ = 1/2( ���) 	 ��(
� � ��1 ������'����� '���,��

f(D∗) =
(D∗)−1/2 e−D∗/2

√
2π

���

F (D∗) =
∫ D∗

0

f(D′) dD′ →
√

2
π

D∗ , (4.6)

1 ��� � � ������ �4-������� 2�&�� � � ��!,-������ D∗ → 0 1� ����) 	 ��
��!,-������ �� �� � &��! 2��� �2���,��� 1�� �,-������ ���� �� ��2)* �&�� ��
D∗ ≈ 0.1 .@0) ��� &��! �,��� D∗ � � �������! �� � � �2���,��� �� ��,���� '!
� � ������������ ��� �� � ��1 ��,�����2 -�����) 	 � �,������ D∗ = 8.3×10−11

������-���� �� � � ����,��� D∗
min ∼ 1/J2 = 10−10)

����� � � ������'����� f(D∗) �� .8)"0 �� ���� 3������� ��
√

D∗ � � ����2���
F (D∗) ��,��� � &��! ��,-�� �--��4�,����� ����� �� 6/=79

F (D∗) ≈
⎧⎨
⎩

1 − exp (−D∗/2)√
D∗ + 1

, D∗ > 1/2√
2D∗

π , D∗ < 1/2
. (4.6a)

	 � ������&� �������! |∆F/F | < 0.05 �� � �� �--��4�,����� �� '����� � ��
:I �� � � 1 ��� ���2� �� F ) �������!( � � �������! �� �&�� ,�� '�����
�4��-� � �����1 �����&�� �� D∗ ∼ 1/2)

	 ��( � � �--�� ������'����� �� ��2)*( 1 �� ������'�� � � ���� ��������� ��
�����������! ���2 ,����� ��,�( �� 1��� �� �2���,��� 1�� � � �&����'�� � ���!)
	 �� �� �� ���2�� � � ���� ��� � � ��1�� ������'����� �� � � -������) ��
������( � �� �� ��� � ���-���� �� �� � � ������ ����( ������ � � ���,�� ���(
� � ,������� ��������� ���� �� ,����! �����,���� '! ����������&� -��������)
��1�&��( � &��! ����������2 ������� �� � �� ����������&� ������'����� �� ��
� �� � � �4-����� �� � � -�1��+��1 ���� ��,���� �4����! � � ��,� �� �� � �
p+������'����� 1��� �2��� � 3������� ���) 	 � ��,-���� �4-��������( B����
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-�����'�� �� ��( �� �� � �� � � ��� ���� ����� ��-������� ��� � ������'����� 1 �� 
�� � -��� �� � � 1 ��� ������'����� ��������2 �� ��� ���2���� -������ �4-������
'! ����,��� .#)/0) 
�� �,,������ ��������� 1���� '� �������� �� � � ����
-��'�'����! �� 1� ����� ��� � � ��,� &����'�� D∗ = D/D∞) 	 �� �� ������ � �
���� ��������2 �� � � ���� �� ��2)* @

� ,��� ��������� -��'��, �� � � B���������&� ����,��� �� � � ������'�����
� ��� ��� � � ,����� ��,� t<∼1/K 1 �� � � ����� < D∗ >=< D(t) > /D∞ > 1)
	 �� � ��� ��� '� � ��������5�� ��� �� &�� � � -��'�'����! �������� '! RF

��,�� ��� � ��4�� D∗ �� &�� � � �������� �� D∗ ������ '! RD ��,�� ��� �
��4�� -��'�'����!) ������ � �� �� � � ���� RD = R2

F ��� �� � � �B����+����
��-������� .8)"0) � ������������ RD ���,� �� �� ,��� -������'�� ����� ��
������'�� � � � ��� ��� ���! �� � � ���� '�� ���� .B��������&��!0 �� � � 1 ���
������'����� F (D∗))

����� ��,� -��!��2 1�� � � ���� 1�  �&� ����� � � �����1��2 �,-������
�������� ��� � � ���� � ���9

RD(D∗) ≈ Da
∗ , (4.7)

1 ��� � � ��1 ��������� �����

D∗(τ) ≈ D0

τD∞
+ 1 (4.8)

��� � � ������ �4-����� a = 0.45)
	 � - �����- ! '� ��� � �� �������� �� �����1��2) G� ����� 1�� ��� ���2�+

��� -������ �� � ��,'���� �������&�F����������&� -������ .#)/0 1 �� �� ��,���
��� ����� � ���� .8)=0) ��1�&��( �� � � '�2�����2 1� ���,�� �� �,-��&� � �
���2���� �������� '! ��������� �� ��� ���-�����2 �����&��!( � � -������) �-����+
�����!( 1� ����� �� ,��� ��� �� �B).#):0 1 �� �� �� � 2��� �2���,��� 1�� 
� � �,-������ ���� ��� � � ��-������� D(t) .��� ��2)/0) ����( 1�  �&� �����
� �� �� -����! ������'�� � � ������'����� F (D) ���( �4��-� �� � �� ,!��������
-������ @ 	 ��( ��� �����( �� ���( ���- 1�� � � � ��2� ���, .#):0 '��� �� �
&������ �� .#)/0 �� � � ���, .8)=0)

��1 �����2� �� ,�! ���, � �� ��� 1��� 1�� � �������'�� �������! �� � �
������ �� ��2)* ��,���������) 	 � ��,�����2 B������� D1 !CD �� ����� �� '�
���1���� �� ���� �� �������) �������!( � �� �� � 2������ ������� -��'��, �� � �
�!��,���� ,�� ����, �������!��2 � � -������ ���,����� ��� ����������)


�� �,-������ �������� .8)<0 ��� '� ��-�������� �� � ��������� 1�!)
��,��!( ������� ������'��2 � � ������ ������'����� ���� � ����� 1�� ���-���
�� � � ��,����2 ��!,-������ .8)"0 1� ,�! ��������� � � ������ ��������� ����

D → D

RD
,

/:



1 ����

D∗ → D∗

RD
. (4.9)

	 � ������ �� � �1� �� ��2)* �� � '��, �� /$ ������ ������'������ 1 �� ���
��������� ��1 ������ ��!,-������ .8)"0)

� �	����	�� ��	� �	����
 	����	��� ������


��� �������� ���������

�'�&� 1� ���������� � &��! -��������� ��� ,��� ��,-�� ��,����2 ���� �� ���
,���� .*)*0 1�� -���,���� d = 0) �� � �� ���� � � ,����� �� ��2���� 6"7
1 �� 2�����! ��,-������ � � -��'��, ����� �������������) ��&��� �����( 1�
�'������ � ��,'�� �� ��1 ������� 1 �� ���, � � ���, ����������� ��� ���� ��
�������)

	 � ,��� �,-������ ��1 ������� �� � � ,����� ��� d > 0 �� � � ��J������
��&���� - ��� �-��� �� � � �!���, � �� �� � ,�4���� �� '�� � ����� �� 1���
�� ��2���� ��,-������ �� � � ,�����) 	 �� �� � �!-���� ��������� �� � ��1J
������, �!��,���� �!���, .���( �)2)( 6870)

����� �� ���( 1� ���� �� �4����� � � ��2���� ���>�������� ���, ���� �� ����+
!��� �� � � ��������� ����������) 	 � �������� 1��� ���1� ,�� �� �� �� � ��
�� ��,��������� ��,-������� ��� ��� ���>�����! �� � � ��J������ 
!�-���&
�4-����� Λ � �� �� � � ���� �� � � ����� �4-�������� �����'����! �� � � ,�����
.���( �)2)( 6/( *( #7 ��� ���������� � �����0) �� � *� ��������� . �,��������0
,�- ���� ��� ,���� .*)*0 � ��� ��� �1� 
!�-���& �4-������ 1 ��� ��, ��
��1�!� 5���9 Λ1 + Λ2 = 0) ��� � � ����� ���>�����! ��� �4-�����( ��!(
Λ1 = Λ+ > 0 �� -�����&� 1 ��� ���� �� ��� Λ2 = Λ− < 0 �� ��2���&�) �� �
������( ��������2 �� � � �������� ���������� �� � � 
!�-���& �4-����� �� � �
��,�� t → ∞( ��! ���2��� &����� (dx, dp) �� � � �������5�� ,����� �--���� ��
� � ��2��&����� ������-�����2 �� Λ+ > 0)

� ��,-�� 1��� ���1� -�������� ��� ��,-����2 Λ+( 1� ,��� ��� �� � �
-������ 1��� ���( �� � � �����1��2) ��� ��� �� M ���>�������� 1�� �����,
������� ���������� x0, p0 1� � ��� � � ���2��� &����� (dx, dp) �� �����, �����+
���� ��� ���� ,������9 dρ2 = dx2 + dp2 = 1) 	 �� '�� ,�-�( � � ,��� ���
��� � � ������ ��� �������5�� 1�� ���-��� �� � � ,��� ��������� ���>�����!
x(t, x0, p0), p(t, x0, p0) 1��� ��� ��,����������! �����2 ��,� ��,� t) ������!(
� � ����
�� Λ(t) 1�� ���������� ���, � � �������� ��������9

Λ(t) =
< ln ρ(t) >

t
, (5.1)

/"



1 ��� � � '������� ������� � � �&���2��2 �&�� M ���>��������) ������ � �
���,�� ,�� �,������ ���������� �� Λ �� � � ��,�� t → ∞( �� ��,������ �4-��+
�,���� � � 
!�-���& �4-����� Λ(t) �� ��1�!� ��,� ��-������( -�������)

�� ��2)# � ��1 �!-���� �4�,-��� �� � � Λ ������'����� ��� ��-����� ���
� � ��,'�� �� �&���� �� .8)/0 J = M �B��� �� � �� �� ���>�������� 1 ��� � �
��,'�� �� -������J��� -����� J0 = M ′ ≤ M �� ���� �4��-� � � ���� d = 0) 	 �
��,-���� ��� �� ��� ��2���� ,����� .d = 00) ��  �� � ���, �� ��,��� &������� ���-
1 �� ����&���&� dF/dΛ ∼ 104 �� &��! �����1 δ+��������) ������ � �� ��2����
� ��� �� -����� ����2 F �4��  �� �� �-����� - !����� ,�����2 '�� ��,-�!
�������� � -��������� ����-��� �!-� �� � � ������'����� F (Λj) = j/J .8)/0
1�� ����2�� j) 	 � ,��� Λ ��-���� ���! �� K .��� �B).*)/$00 '�� ��� ��
� � ������� ����������) 	 �� �4�,-�� �� ��2)# � �1� � � �,-������F� ���������
����� 1 �� �� &��! ����� �� ����! �� �4-�����)

��2��� #9 �4�,-��� �� ������'����� �������� F (Λ) �� �!-� .8)/0 '�� ��� � �

!�-���& �4-����� �� ,���� .*)*0 ��� d = 0, M = M ′ = 80, t = 104 .� �
��2 �+,��� ���- F (Λ)( ��2���� ,�����0( ��� ��� d = 1/2, M = 104, M ′ =
1000, t = 104, 105 .�����2���� ,�����( ��� ��4�0H �� ��� ����� K = 0.45)
����5����� ���� ��������� � � ����� � ��� Areg ≈ 0.318 �� � � ,����� ��2����
��,-������) ����1 �� Λ = 10−4 � �1� � � ��1�� '����� �� � ����� ���>����+
���� � ���� ��� ���� �� ����!��� .��� t = 105( ��� ��4�0)

/<



	1� �� �� �4�,-��� ������-��� �� � � ��,� K = 0.45 ��� M = 104 '��
��������� ,����� ��,� t = 104 ��� 105 ����������) ��� ������'������  �&�
� � ��,� ���- �� � � ���2��� Λ 1 �� ������-���� �� �������&� ��,-������
.��� ����������! � ���2�� ���0 �� � � ,����� ��,���� �� � � ��2���� ����) ��1+
�&��( � � ,��� ����������2 -��� �� � � ���,�� �� � � ���� �� � � ������'�����
1 �� ��-������� � ��� ,����� ��������� �������! �� � ���� ��� �� � � ��2����
,�����)

	 � ���2��� .'�� �2��� ��� � � ,��� ����������20 -��� �� � �� ���������
�� ������� �� � � ������'����� ����- ���+��� �� �,��� Λ) ��,-������ �� � �
�1� ������'������ ��� ��������� ,����� ��,� t = 104 ��� 105 � �1� � �� � �
Λ &����� �� � � ���>�������� �� � �� ��2��� �������� 1�� ���������2 ��,�( �-+
-��4�,����! �� Λ ∼ 1/t) 	 �� 1���� ,��� � �� ��� � ��� ���>�������� ��� ��2+
���� .��� �B).:)/00 '������ � � ���2��� &����� ρ ���� ��� 2��1) 	 � ������&�
��,'�� �� ��� ���>�������� 2�&�� � � ����� ���� �� ��2���� ,����� �� �!���,A�
- ��� �!������) �� � -��������� �4�,-�� ����� ������������� �� �,����� ��
Areg = 3177/10000 ≈ 0.318 (t = 105)) 3�������!( � �� &���� ��-���� ��
� -��������� ���J��� '����� ���, �'�&� � ���� .��� ����1 �� ��2)#0) 	 ��
�������� �4-���,����� -��'��, �� ���������'�! ,���2���� '! � ����! �������
�� Λ ������'����� �� ��� ,����( ��,��!( � ������&��! 1��� -������ �� F (Λ)
�,,�������! �'�&� � � ���J��� 1�� ���! � ��1 ���>�������� �� ��) ��1�&��(
� � ����������� �������!

∆Areg

Areg
≈ (M · Areg)−1/2 (5.2)

�� �!-�����! ,�� 1����( ��� ��� '� �,-��&�� '! ���������2 � � ��,'�� ��
���>�������� .��� � � ��,-������� ��,�0 ���!)

���� �� ����������2 ������� �� Λ ������'����� �� ��� ,���� �� � � ����+
�������� D����D � �-� �� � � ���J���) 	 �� �� � ������ �� ��2���&� Λ ��� ,��!
��2���� ���>��������) ��� � -������� ��-����������� �� �'������ '! �������2
Λ(t) &����� 1�� � ��� ��2�� '�� -������2 ��� � � ,����� |Λ(t)| ���!) 	 ��( � �
��1�� -���2 �� � � ���� ������-���� �� ��2���&� Λ(t) < 0 1 ��� �� � � �--��
��� Λ(t) > 0 ��� -�����&�) 	 �� �� ��� �� � � ��,-��4J���>�2��� 
!�-���&
�4-������ 1 �� ������� �� � �������! '������ ����������� �� � � ���2��� &�����
(dx, dp) �� � �� ����) ��1�&��( � � ���� .:)80 A± ≈ 0.20 < Areg ≈ 0.318 ��
�������'�! ���� � �� � � ����� ��2���� ��,���� Areg) 	 � ���� �� ������ 1�� 
� � ���>�������� 1 �� ��� ���� ��2���� '�� ���

��� �����'��) 	 �� ,���� � �
������ �� ��,� 2��1� �� � � ���2��� &����� ρ(t) ∼ t �� � �� Λ(t) → 0 ��,����
-�����&� '�� �� &���� ��2 �� � � ��,�� t → ∞) 	 �� �� � � ��J������ ,��2����
����� �����'����! 1�� '�� Λ± = 0 �B��� 5��� .��� ���������� ��� 6/%70) �
������� -���� �� � �� � �� ���,��2�! �4��-������ ���� '���,�� � � �!-���� ���

/=



�� � ��������� ���������� �!���, ��� �� � � ��-������� �� ����������� ���B���+
���� �� � � ���>�����! ������� ����������) �� ����( � � '������ ρ �����������
-�������2 ��2���&� Λ(t) �� � � �4��-������ ���� �������) 	 � ���2�� �� � ��
-���������! �� �� � -����1��� ���

� ����� �� ��� ,���� .*)*0) �� � ������( � �
,����� �� � � ,��� .��� � � '�22��� ��� ���2� K0 ��2���� ��,��� ������ ��4��
-���� x = 1/2, p = 0 �� -�����! �  ��,���� ����������� 1�� � � ���B����!
.K < d0

Ω = arccos
(

1 − K

d

)
≈ 1.47 , (5.3)

1 �� ��,���� � � ��,� �� � � 1 ��� ��2���� ��,��� �� ����

A± =
2πK

d
y2
±

(
1 − K

2d

)
≈ 0.20 . (5.4)

���� y± = x±−0.5 = ±d/2 �� � � -������� �� �1� ���2��������� �� � � ����� .���
�B).*)*0 ��� '���10 1 �� �������� � � ��5� �� � � ��2���� ��,��� ����������
'! � � ��,����2 ����-�� �� 1 �� '�� ����� �� ���2������! y± = d/2 = 0.25 ���
���2���) 	 �� ����-�� �� �����,���� '! � � ������� ����������

p0 = 0, x0 = 0.5 + y±

(
1 − K

2d

)
≈ 0.5 ± 0.185 . (5.5)

��� � � ��,������ &����� �'�&� ������-��� �� K = 0.45 ��� d = 1/2) G�� ��
� � ����-�� � � ,����� �� ���2��� &����� �'�!� � � ��,� �B������ �� � � ,���
,�����( � � ���! ���������� '���2 �� ��'�����! ���2� ρ �� � � ���2��� &�����
.��� ������� ��� 6#7 ��� ���������� � �����0)

��,��2 '��� �� ��2)# ������ � � �������� �� � � ,������� ���� A± 1�� 
���������2 ,����� ��,�) 	 �� �� �4-������ '! -���������� �� ���>�������� ����
� &��! ��,-������� �������� ��������� �� � � � ��� '����� ����������2 ��� 
��2���� ��,��� .��� ������� ���( �)2)( 6870) ��� � � ��,� ������( � � ������
,������,��� �� � � 1 ��� ��2���� ��2��� Areg ≈ 0.40 '! � ���2�� � �����
���>�����! �� ���2 �� 109 ���������� 2�&�� � �������'�! ���2�� &���� �� ��,-����
�� Areg ≈ 0.318 ���, 104 ���>�������� ��� 105 ���������� ��� )

�� ��� � � ��������! �� � � Λ(t) ������'����� �� ��2���� ��,-������ �� � �
,����� ��� ,��� �������� �� � � -������ ����! �� � � �����,������ ��2���
'��1��� � � ��2���� ���J��� �� ,��� �,��� Λ(t) → 0 ��� � � � ����� ���-
�� ,�4�,�� Λ ����-������ �� t) 	 � ������'����� �� � �� ��2��� ���� ����
��� ��-��� �� ,����� ��,� ��� � ��������5�� � � -��-�� �������� ��������� ��
� � � ����� ,�����) �� �� �4�,-�� �� ��2)# � �� ��������� �� -�������� '! �
������&��! �,��� -��'�'����! ���- ∆F ≈ 0.06 �� Λ ≈ 0.03) �� � � ��4� �������
� ��1 �� �� �4�,-��� 1��� '� 2�&�� ���)

/%
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 	����	��� ������


��� ��	�	��
 ����	��	��

�� ��2)8 1� -������ � ��� � ������������ �4�,-��� �� � � ������ �� � � ���+
����� ��������� �� � � ��������� ����������) 	 � ��� �� ���&� � �1� � �
D��-�����'��D ������'����� F (D∗) .8)/0 �� � � ���,���5�� ��������� ����
D∗ = D/Dnorm 1 ��� � � ���,���5��2 ���� Dnorm �� '� � ���� �� ��� 
-��������� ���� .��� '���10) 	 � ���, ��-�����'�� ,����  ��� � � ��2����
���� d = 0 1�� ��� ��! ��&������ ���&�� ��� �������� ��������� .������� 8( � �
-��'��, �� �������� ��������� �� � �� ���� �� ��� �� ��,-�� �� �� ,�! ���,( ���
'���1 ��� ������� <0) �� � �� ���� � � ���,���5��2 ���� Dnorm = D∞ �� � �
���� ��!,-����� ��������� ���� .8):0)

��1 1� ��� ���������� �� � � ������ �� � � �������� ��������� 1 �� �!-�����!
������ �� � �����2���� ,����� 1�� ��� '������� ��� � � � ���( �� � ��� '������)
	 � ������ ��� -���������( ��� &��! �,-������( ���� �� �� ��&������ ���&�
1 �� �� ��������,�� ���� ������ ����� �!���,A� �!��,���) �� 1�� ���������
������! �'�&� .������� /0 � ��� ��� ��&���� ��������� �!-�� �� ��&������ ���&��
.���0)


�� �� 1��� ������� ��� ��� �� ��,����� � ��� '����� ����������2 ��!
��,��� 1�� ��2���� ,�����) �� � �� -�-�� 1� ���� �� � � ����� ��&������
���&� .
��0 1 �� ���� ��� '���� � � 2��'�� ��������� .3�0 ������ ��� �
��,���) �� �,-������ -��-���! �� 
�� �� � � ��'������� 1 �� ,���� � ��
� �,��� � ��2� �� � � �!���,( ��!( �� � -���,���� K �� d ������ ������!
� � 
�� '�� ,�! ���! �����, �� ���2 ��!) 	 �� �,-���� � �� 
��� ��� ��1�!�
-������ �� ��! ��&���� - ��� �-���)

���� 1� ��� ,����! ���������� �� � ��������� �� �!-�( � � 2��'�� ��&������
���&�� .3���0) ��� 3�� ���� � � 1 ��� - ���J�-��� �!������ .x mod 10
�� ��� ,����( ��� � �� ��,-�����! -��&���� 3� �� p) ��� ��� ��� ����
���1�( ��-������! � � ,��� ���-�����2 �� � �,( � � ��-������4 �� � ���������
���������) ��1�&��( � ��� 3���� ��� ��� ��'��� �� � � ,���� ����� ��������+
����� .��� 6%70( '���2 ������!�� '! ��,��� ��! ��'�������! �,��� -�����'�����
�� � � �!���,( -����������! '! � � ��2� �� �&�� � ���2�� ��� -���,����) ��
�� �� 1����( ��� 3��� �� �4��� ��� � � �-����� &�����( ��!( K = Km ���!)
�&�� � ��2 � ��� ��� �!-�����! ���������! ,��! ��� �-����� &����� � � -��'+
�'����! �� ���� � 3�� �� � �����,�! � ���� �!���, �� 5���) 	 �� �� 1 ! 1�
��� ���������� �� � ,��� 2������ ��������� 1 �� ��� ,����  �� �� 3��� ��
���) ���( � � ������ �� � ��� ����� -������� �� � ������� ��,��� ������ ��� 
Km @ ��� � �� ������ 1� ���� ��� 3��� � � &������ ��&������ ���&�� .E���0
�� �����2! 1�� �� �� &������ B��������� �� - !���� ����( ��� �4�,-��( &������

*$



����2! ��&��� �� B����, ,�� �����) ������ � �� ������ � 3�� � � E�� ��
��'��� ���(  ����( 2������)

��� 
��� ��� 3��� -������ � � ��J������ �������� ��������� �� � � ,�����
.���( �)2)( 6870 1 �� �� �!-�����! � ��������5�� '! � -�1��J��1 ������'����� ��
-�����-�� B���������) 	 � ������-�����2 �4-������ cn ��� ������ � � ��������
�4-������) 	 ��� &����� ��� � �1� �� ��2)8 �� � � ������� ������'������)
������ � �� � � �--����� �� 2�������! ��� ���� � �� �� � -��������� -�1�� ��1
���� ��� ����������! ��������� ��! �������� ���������) �� ��� ,���� � �� �� >���

��2��� 89 	 ��� � ������������ �4�,-��� �� � � ��������� ���������� �� � � �����+
��� ��������� ��������2 &������ ��&������ ���&�� .d = 1/20) � �1� ��� ����2���
������'������ F (D∗) .8)/0 �� � � ���,���5�� ��������� ���� D∗ = D/Dnorm

.��� ��4�0) 	 � ��,'��� �� ���&�� ��� �������� ��������� �4-������ cm) 	 �
'�22��� ��� c0 = 1/2 ������-���� �� � � ��2���� ,����� .d = 00 1�� ���
��! �������� ��������� .��� �� ���&�0) 	1� �����2 � ����� � �1 � � �&���2�
.c1 = 0.30 ��� ����� .c′1 = 0.40 �������� �4-������ ��� K = 0.45 .����� ���� ���+
������2 :$$ &����� �� F (D∗)0) 	 � ������'����� ��� K = 0.335 1�� �1� �����
�������� �4-������ .c2 = 0.09 ��� c′2 = 0.450 �� -�������� '! #$$ -����� � �����
�� � � ��2 � �� �&��� �&����--��2 1�� �1� �� �� ������'������) 	 � � ��� ���+
���'����� .� ����� ���� � ���2 /$$$ -�����( K = 0.32940 �� ���-�����2�! �����
�� � �� �� ��2���� ���� .��� �� ����0) �� ��� � ��� �4�,-��� M = 104, t = 105)

*/



� � ���� ��� � � ��2���� ,����� 1 ��� � � ��������� ���� ������'����� �� ����
� ��������5�� '! �� ��!,-����� .D → 00 -�1�� ��1 1�� �4-����� c0 = 0.5
.��� �'�&� ��� ������� <0) ��1�&��( �� �,-������ ���������� '��1��� ��2����
��� �����2���� �!��,��� �� �� � �� ��� ������
� �4-������ �� � � ������ ����
cn < c0 ��� ���� � �� .2�������! �����������0 ��2���� �4-����� c0) 	 �� ��
� � ,��� - !����� ������ �� ��� -����,����! ��,������ �4-���,���� 1� ���
-������ ��� ������� ������! ��2 � ��1 .��� ��2)80)


�� �� ����� 1�� � � ������'����� ��� K = 0.45 .�--�� ����� ����0 1 �� 
�� ��� �� � � ��2��� 1�� ��� E��� .� � '����� �� � �� ��2��� �� �� KB(d =
1/2) = 1/3( ��� �B).*)#0 �'�&� ��� 6/"70) ��1�&��( � � ��2���� ���>��������
.Areg ≈ 0.3180 ��2�� �� 1�� 
��� ��� � � ������� �������� ��������� ���
-������) �� � ������ � � ������'����� .1�� Dnorm = D∞0 �� 1��� ��&�����
���, � � ��-�����'�� ��� ��� ��2���� ,����� 1�� d = 0) 	 �� �!-� �� � �
�������� ��������� �� � ������&��! �����1 ��!�� ������ � 
�� �� 1��� �������
'! ��1 .���( �)2)( 6870 ��������2 ��,� ��&������ �� � �!-���� ������'����� ���,
� -��� -�1�� ��1) 	 � ������ 1���� ,��� � � �4��� ����� ��&������� �� � �
�������!��2 �������� ��������� �� '�� � � �!���, - ��� �-��� �� 1��� �� ���
,����� ��,�)

	 � �������� ��������� �� ������'�� '! � � ��J������ �����,���5����� 2���-(
�� �����,2���- ��� '��&��!) 
� � � �� ��  ���( � � ,����� �B������� ��� ��!
�!��,���� �!���, ���� ���, � ������� .�!��,����0 2���-) ��� � �����,�����
��,������! ����1� ��� �� �����-��� � � �������� ��������� �� � ������� �!��,���
1 �� 1�� ������ � � �
�������
���� 6*$( 87) �� � �� -������ � � �4��� �����
��&������� 1�� � -��� -�1��J��1 ������'����� ������-���� �� � � ��,-����(
-�������( �����,�!��,��� �&�� � ��2 � � ���2���� �!��,��� ,�! '� � �
,��� ��,-������� � ����� ,�����) 	 � ���������� �� � �� �--����� -�����4
�� �� � �� � � ������ ��,-��4��! �� � � ���2���� �!��,��� �� D�����������D ��
� � �!��,���� ���������! ��,�������� �-��� �� � � �����,�!��,��� ���&��2
'� ��� � � ,��� ��,-�� �����,�!��,��� ������ .��,���,�� @0)

	 � ������ ��,�� �� ,��� ������� ��,-�! '������ �� �� � � ��,-���� ���)
��1�&��( � � 2������ ���� �� >��� �--����� � �� �� � �!-���� �����,� ���
�� ���� � ����� 6*/( *$7) �����������!( � �� �,-���� � ������� � ����� �������+
���� �� � � � ������������ ������'����� ������ ��,� �&���2� -�1�� ��1) 	 ��
�� >��� � � ���� ��� � � �--�� ������'����� �� ��2)8 ����� ����������) �� ��
� ��������5�� '! � � �&���2� �������� �4-����� c1 = 0.3 1�� ������������
∼ (c′1 − c1) = 0.1) ��� �� �����-�������� �� � � �������� ��������� �� B�������
�� ���1� �� '� �!-���� '�� ��� ����������! ���B�� .��� '���10) 	 � �����!
���B�� -��-���! �� � �� �������� ��������� �� � � �������� -�1�� ��1( 1�� ��
1�� ��� � � ������������) 	 � ���, D��������D ������-����  ��� �� � � ���2�
�� � �����,�!��,���� &����'�� ln D → −∞ 1�� ������������ &�������� �&��

**



� ��2 � � ��������� ���� ������ D > 0 �� �������! '������ ���, '���1)
	 �� �� �� ���2�� � � ���� ��� � ��1 �!-� �� �������� ��������� 1 �� 1�  �&�

����������� �� ��� -��'��, ��� 1 �� �� -������� '! E��� .K��'��� 3���0
��� �� � �� '! � � ��'��� 
���) �� 1�� ������! �4-������ �'�&� � � -�����-��
���������� '��1��� � � �1� �� �� � �� � � E�� �� ��� �� ��&������ ���&� ��
���) �� ���,� �� �����,�!��,��� �� ,���� � �� E�� ��� ,�,�� � 3�� ���
������&��! ���2� ln D ���!) 	 �� �� ������! ���� �� ��2)8 �� � � �--�� -��� �� � �
������'����� 1�� ����� �������� �4-����� c2 = 0.09 ��� -���,���� K = 0.335
.-�����0) ���� 1�  �&� ����� Dnorm = 10−6 < D∞ ≈ 2×10−5 ,�� �,�����
� �� � � ���� ��������� ���� D∞) 	 �� � ���� � � 1 ��� ������'����� �� � �
��2 � �� �&��� � � �&����--��2 1�� �� �� ������'������) 	 �� &���� �� ���2 ��!
�'�&� � � '����� KB(1/2) = 1/3 .��� �B).*)#00 1 ��� � ��� �� � ��� �� E���
1�� ��� ��! 3��) �� � ������ � � ���2� �� � ������������ �������� �4-�����
c2 �� &��! � ���9 ∆ ln D∗ ≈ 5 �� ��,-���� 1�� � � ����� �&����'�� ���2�
≈ 25) 	 � ���� �� � � ������'����� ��,���� �����! ����� �� � � ��-�����'��
���) 	 �� 1���� ,��� � � �'����� �� � � �������� ��������� �&�� � ��� ��( ��
�����( ��� � ��- � ��2� �� ln D<∼2) �� ���� �� � � ���,�� �����-�������� � �
�����,+,����� ���-� �� � � ������ ��2���)

�� ����( � �� 1���� �,-�! � D�����-���&�D ��� �� � �� D��,��������D
�����,�!��,���) ������ � �� � � ,��� -��� �� � � ������'����� �� ����� '��
��� ��������� �� � � ��-�����'�� ��� ��������2 � ���2 � ���������� �� � � � ��+
���������� �4-�����) ���� �� ,���� � ������� &��! ���1 �����,+,����� ��+
,���� � &��! ����������2 �-�� B������� !�� �� '� �������) ����������2�!( � �
���2�� �������� �4-����� c′2 = 0.45 �� ���� ����� �� � � ����� �������� �4-�����
c′1 = 0.4 �� � � ��2��� 1�� ��� E��� �� 3��� ��� 1�� �����-����� �'�&� �� �
�����, ����������� �� � � �����,� ���) �� �� �����! ���� ����� ��,���� �������)

������!( � � � ��� ������'����� �� ��2)8 .��1�� ����� ����0 �� �������! ��+
������� 1�� � � ��-�����'�� ������'����� .Dnorm ≈ D∞0 �&�� � ��2 ��
������-���� �� � � ��2��� 1�� ,��! E��� ��� �����2 ��--������� �� � � ���+
������ .K = 0.3294( ��� ��2)# �� 6/"70) � ��&������ ��� &��! �,��� D∗ �� ���
�� � -��� ���������� �� � �� ���) ������ � �� � � ����������� �� '�� ������+
'������ �� ��� ���! ��!,-���� .F → 00 '�� ��,-����( ��������2 � � �--�����
��,�� F → 1) ��� � �� �� �� �-��� �� � ��� �� ���2� ��2���� ��2��� Areg ≈ 0.581)
	 � ���2�� �� � �� -���������! ��� � -��������� K &���� ��,���� �������) 
��
-����'����! �� � ��( ��� ��,� �������( � � ���� �� � � �������� ��������� �� � �
� ��� '����� ������ � �� ��2���� ��,��� �� ��������! �,���) �4�,-��� ��
��� � -���������! �� ��������� ,����� ��� ���1� .��� 6**70) �������!( �� � �
������ 1��� � � �������� ��������� 1�� ����� �� '� ��������! ���2� '��  �����)
�� �� �� 1����( � � ,����� 1�� ��2���� '�� 1�� �����2 ������������ .��) � �
������� ��������� ���� .*)=0 ��� K � 1 �� ��2���� �!���, �� d = 00) ��,��2

*#



'��� �� � �� ���� �� ��2)8 1� ��� �������� � �� ��� D��-�����'��D -�1��J
��1 ������'����� 1�� �4-����� c0 = 1/2 .��� �� ����0 ,�! 1��� ��-������ �
-������� �������� ��������� ������� �� � � �����2  ����� ��,-���� ������������
��� �� � �� �� � -����! �-����� 2��,���! �� � � - ��� �-���) �� � �� �� ����(
������( � � ����������� ����! ,�! 1��� '� ��� � -�1��J��1 ��� �� ��� �� ��
� � ���� �� ,���� 6**7 1 ��� ��� �  ����� ����! �� -����! �4-�������� .���
��2)" �&�� � ���0)

�� ����( ��� �� ,������ ���� �� -���������! �� � � �������� ��������� ��
B�������9 ��� � � �������� �4-������ ����� �� ��� ��� ����( �� ���! � ������(
� �� D��-�����'��D �� D �����D ��� c0 = 1/2) 	 � - !����� ,�����2 ��
� �� ���&����� ���B�����! �� �� � �� � � �������� ��������� ����� �������������
���� ��1�!� �������� � � -��'�'����! �� &��! ��1 ��������� ���� D → 0) 	 �
2������ ,�� ����, �� � �� �� ���1� .���( �)2)( 6870( ��� �� �4-������ '! � �
D�������2D �� � ���>�����! 1�� �� � ��,-������� �������� ��������� 1 �� ���1�
��1� � � ���������) ����������2�!( � �� � � ��2� �� � � �������2 ������ ,�!
'� �--����� 1 �� � � �������2 ����������� � � ��������� �- �� � � �'������
,�4�,�, D(t) ∝ t ��  �,�2������ ��������� ���� 6*#( *87)

	� ��,,���5�( 1� ��� � �� ��� D��,-��D ,���� �� � � -������ -�-�� �����!
��&���� � 2���� &�����! �� �������� ��������� ����� �� '� ���� �� ������� ���
����������)

! "���
��	��
 � �	���� ��	�	��
 ���������#

�� � �� -�-�� 1� -������ ��,� -����,����! ������� �� � � ��,������ �4-��+
�,���� 1�� � ��,��! �� ��,-�� ,����� �-������� '! � � �,��� ���������
*�+,�- .*)/0 1�� 2��'�� &������ ��&������ ���&�� .E���0) �� �� ��� -��&�+
��� -�-�� 6/"7 1� ,��� ���  ��� �� � � ��,� �����2�! � ����� ,����( ��� �����
�2��� �� � � ���������� �� � � ��������� ���� D 1 �� -��&�� �� '� �� � &��!
��,-������� .�--������! �������0 �!-� �����,���� '! � � ��J������ ��������
��������� �� '�� � � - ��� �-��� ��� � � ,����� .���( �)2)( 6870) �� -��&����
-�-�� 6/"7 1� ������� � � ���������� �� � � ,��� ��������� ���� < D(K) >
�&���2�� �&�� ����,'�� �� ���>�������� 1�� �����, ������� ����������) 
��
,��� ������ � ��� 1�� �'���&����� �� &��! '�2 ��� ����2���� ������������ �� � �
��-������� < D(K) >( ��� � ���2 ��� &��! ���1�! ����!��2 ���� �� < D >
������'����� ��� < D >→ 0) G� ���,�� � � ������ ������ � � ��� ���������

�����
�����)
�� � � -������ -�-�� 1� �������� ����!��2 � �� ����������2 - ���,���� ��

,��� �������) 	� � �� ��� 1� ���� ���, � � ���������� �� �&���2�� < D(K) >
�� � �������� �� ,���� -���,���� K �� � �� �� ����&����� ���>�������� ��� �

*8



2�&�� K) �� -�����-��( ��� �� �--���� -��&���� � � ,��� ���- ����2 � ���� �
����������� -��'��,) �� � � ,��� ����������� � ������������ 1�  �&� � ���� � �
����2��� ������'����� F (D) �� � � ���, .8)/0 ��� � -��� ���������� �� D → 0)
�����,����! ������� �� ��� �4�����&� ��,������ �4-���,���� -�������� �� ��2)8
������,( ������( ��� ������� ���>������ �� � �������� ��������� �������!��2 � �
������� ��-������� < D(K) > �� 6/"7( � � ���� ��2� �� ��� � ��������� '���2
&������ -�1��J��1 ������'������ �����) ?����&��( '������ � � ��,����� 1���
���1� �������� ��������� �4�,-������ �� ��2)8 '! � � ���� 1�� -���,����
K = 0.45 1� ��� �'���&� ,��! ����� �� � ��� �� ��������� ��������� �� ���
1�� K = 0.335) 	 � -�����-�� ���������� �� � � ������ �� ��� �����
 ��5� �� � �
��������� &����'�� ∆ ln D<∼5) 	 � ������� �4-�������� �� � �� ���������� �� � �
�����1��2) ����� �� ���( � � E�� �� ��� � ���� ��&������ ���&� ���� 3��) 	 �
������ ��,-�����! '����� � � 3� 1 ��� � � ���,�� ���( �� ,���( �� �'�� � �
��������� ���!) 	 � ,�� ����, �� �� �'����� �� ���1� �� '� � � �������2 �� �
���>�����! ������ � &��! ��,-������� �������� ���������) �� ����( � � �������2
�� � � �����2�� .���2��0 � � �,����� �� � � �-����� ���F�� � � ���2�� �� � �
��,-���� ����� �� � � �������� ���������) ��� ��� � � E�� ��������� '�� ���
�������! ����������) 
� � � �� ��  ���( ��� � ����������� �� � � 1����� � �
 �2 �� �� � � E�� ������!) �� � � �!���, ����� ������������� � � ������ ��
��� �� ���2�( ���  ���� � � ����������� ���&�� ����2 ������, ��� � �����2
��--������� �� 3� ��� ��,��� ��! K) ?����&��( ����� � � �������� �4-�����
�� � � E�� ��������� �� �!-�����! &��! �,��� .��� �4�,-�� c2 = 0.09 �� ��2)80
� � -��'�'����! �� ���2� ��--������� ��  �2 �&�� ��� � � ��� �������� ���������
.��) 6/"7 ��� � ��������� � ������������ �� � �� - ���,����0) 	 �� ���1 ����!��2
��--������� -��'�'����! �� 1��� ����������� �� ��� ��,����� '�� 1�  �&� ���(
�� !��( ��! � ��������� �4-�������� �� ��� � '� �&���)

��1 1� ��,�( -�� �-�( �� � � ,��� ����������2 ������ �� ��� ������� ����+
���) ��1 �����2� �� ,�! ���,( � �� '���2� �� �� � � �--������! ��,-���� ����
�� ��� ,���� 1�� d = 0 1 �� � � ,����� �� ��2����) ��� �� ����� ��&���
��! ��������� �� � � 2������ � �� � � ������'����� F (D) �� ���� � -�1�� ��1
.��2)80C 	 �� �� � � B�������@ ��������!( �� �� ��� � � ���� ��( �� ��������(
-���,���� K � 1 �� '�2( ��� � � ��������� ����  �� � � �������� ���, .*)//09
D ∝ K2) ��� 1 �� �� K � 1 �� �,���C �� �����( � � ��������� ���� '���,��
B��������&��! ���������9 D ∝ K5/2) G �� ���� �� ,���C 3�������!( ��� ��2@
��� �� � -��������� ���� ����� ������������� ��� ��-������� D(K) ��� '�(
��� �������! 1��( ����&�� 6/"7 ���, � � ��������� ��������� �� � � ,�����) ��
� � �!���, 1��� ��� ��2���� .1�� ��&���� - ��� �-���0 � �� ��������� 1����
'� ������! ���� �� � � - ��� �-���) 	 � B������� �� 1 ��  �--��� ��� ��2����
,����� 1�� � � ��,� ��-������� D(K)C �� 6/"7 1� ���>������� � �� ��,�
��������� 1���� ����� -������ �� � � ���, �� � � ������������ 1 �� �����,���
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� � ��������� ���� � �� �� �� ��,� D �����D ���, ������ �������! �� � � -������
�� � � ,����� �� - ��� �-���) �� �4�,-�� �� ���  ����� �������� ���������
1�� ����� �� 6**7 .��� ������� " �'�&�0) ��1�&��( �� � �� ���� � -������+
��� ������'����� �������� 1�� �4-�������� ��� �� � �� � -�1��J��1 ��� .C0)
�����( � � B������� �� �� � �� B��������&� ���������� ����� ��-��� �� � -�����+
���� � ������������ �� � � �������� ���������C ����� ���� �� B������� ������ ���,
� &��! �����2� ��,-���� '� �&��� �� � � ��������� ���� �� � � ��,� D��,-��D
���� �� ��2���� ,����� ��� d = 0) G� ,��� � D,!��������D -������ �� � �
&��! '�2�����2 �� ��������� ����� � 1��� -�����'����� .K � 1( ��� ��2)/0) ��
� �� ���� � � ��-������� D(K) = K2/3 �� � � ��,� �� �� � � �--����� ��,��
�� �����2 .K � 10 ������������ -�����'����� .C0 '�� ��� � &��! � ��� ��,�
���!( � � � ����� � � �����2�� �� � � -�����'����� .C@0) ?����&��( � � �����+
������� �� � � -������ ��� ��� ���! &��! ���2� �� �� � � 1���J-�����'�����
��,�� K → 0 '�� �&�� ���������2 �����2 � � 1 ��� -������ ��2�,� .��� ��2)/(
��� �� ����� ��� &�������� VM (τ) .#)*00) �� !��( 1�  �&� �� �������� �4+
-�������� ��� ��� � ������&������ '� �&���) � �������� ������� ���>������
�� � � �����1��2) 	 � �������� �� -������ �� τpl ≈ 1( �� tpl ≈ 1/Λ ≈ 1/Ω
.��� �B).*)%00) ��� � � ������ �4-������� 2�&�� � � -����� �� - ��� �����������
�� � � �������� ��������� ��������� 1 �� �����,���� � � ��������� ���� 6/"7)
	 ��( ��� ��� �,�2� � �� � �� -����� ���� � ��������5� ��� ���! � � �����+
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